EXAMPLE SERIAL DATA INPUT FOR LOADING ALL THREE REGISTERS OF A
TGLD CHIP ON AROC

ROC1, TGLD1 DATA FOR CR1, CR2 AND CR3

msb TGLD SERIAL ADDRESS REGISTER

sb

[A0]

W\Rl\RO\AtB\AS\A4\/B3}A12\A1 \

[ o

| o

[1[oJo]O]

3

CR1: TEST PATTERN CONTROL REGISTER

sb

|

T2\T3\T4\Ts\Te\T7\Ts\T9\Tlo\Tll\le\Tls\T14\T15\T161
1]0[1]0]1

=

[o0[1Jo[1]of1]0]

(=]

msb TGLD SERIAL ADDRESS REGISTER

101

sb

[A0]

R/W\Rl\Ro\Ae\As\AMAs\Az\Al
0 [1] !

[t[ofofofo]

‘XXXXXlO 10000100 XXXXXXXX XXXXXXXX 10101010 10101010 XXXXXXL0 10000010 XXXXXXXX XXXXXXXX X0001000 00000100 XXXXXX10 10000110 XXXXX000 00100001 00000000 00000000k

=IRST BIT IN

[ o
msb CR2: ATTEN., THRESHOLD, TEST AMP. CONTROL REGISTER Isb
!th\Atl\Vte\Vts\vm\Vts\Vtz\vu\TaﬂTae Ta5|Ta4[Ta3[Ta2[Ta1]
o[ of 1] ofofoJoJofo[ofo[1[ofofof
msb TGLD SERIAL ADDRESS REGISTER sb
W/\/\Rl\Ro\Ae\As\AMAs\Az\Al A0 |
[o0f1]1]JofoJoJo]1] 1
msb CR3: CHANNEL DISABLE, MUX AND DECAY SLOPE COMPENSATION CONTROL REGISTER Isb
ﬁs\ms\om\ms\012\011\010\ D9 [ D8 [D7[D6 [ D5[D4a[D3[D2]D1[M5[Ma[M3[ M2 ML s6]s5]sals3]s2]st]
[ofofoJofofoJoJofJoJoJofoJofofoJoJifoJoJofoJiJofofJoJofo]
ROC1, TGLD1 DATA FOR CR1, CR2 AND CR3 WITH PADDING BITS
pad bits (6)
Address register contents to load CR1 10000100
Aoytel byte2
first bit in v * 4
Isb of Adreg
Isb of CR1
pad bits (16)
Controlregister contents of CR1 ‘ XXXXXXXX ‘ ‘ XXXXXXXX ‘ ‘10101010‘ ‘10101010‘
byte3 byte4 byte5 byte6
pad bits (6)
<>
Address register contents to load CR2 10000010
byte8
Isb of Adreg
Isb of CR2
pad bits (17)
. xxxxxxxx‘ xxxxxxxx‘ ‘x0001000‘ ‘00000100‘
Controlregister contents of CR2
byte9 byte10 byte1l byte12
pad bits (6)
Address register contents to load CR3 byte13 byte14
Isb of Adreg
pad bits (5)
) ‘xxxxxOOO‘ ‘00100001‘ ‘oooooooo‘ ‘oooooooo‘
Controlregister contents of CR3 )
bytelsT byte16 byte17 byte16A last biti
ast bit in
Isb of CR3

SERIAL STRING DATA FOR LOADING REGISTERS CR1, CR2 AND CR3 CONSECUTIVELY FOR TGLD1 IN ROC1 IS
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LAST BIT IN



